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Density functional in TDSLDA and coupling to electromagnetic field

Here we present various definitions and conventions which we have used in the manuscript. The density functional

is constructed from the following local densities and currents:
e density: p(r) = p(r,r’) | =
e spin density: §(r) = s(r,r")| =
e current: j(r) = %(ﬁ —V)p(r, 1)y
e spin current (2nd rank tensor): J(r) = £ (V — V') @ 3(x, 1) |p—p

21

kinetic energy density: 7(r) = V - V/p(r,r’)|,—p

e spin kinetic energy density: T(r) = V - V'3, 1) |p—p
e anomalous density: x(r) = x(ro,r'0")|;= o=1,0/=—0

where

pr,r') =3 (Vi) Vu(r'+) + Vi (e=) V(' -))

r(r,r) = z:: (VY e4) - VL' 4) + IV, (0-) - YV, 07-) )
jxr) = ~Im < Vi (r+) - VVu(r+) + Vi(r—) - ﬁvu(r_)> -
=Im <Z Vi(r+) - VVi(e+) + Vu(r—) - VVr (r_)>
Jo(r) = Im ((%sz(r,r’) - %Sy(r, r’)> o
3,0 = 1 Ll = s ) oo
5.0 = 1 (5 0) = s (0) ) o (ro.r'e’) = 3V 1)U, 1)

m



The coupling of the nuclear system to the electromagnetic field:

requires the following transformation of proton densities and currents:
o density: pa(r) = pa(r)
e spin density: §4(r) = §(r)
e current: ja(r) = j(r) — hiff (r)
e spin current (2nd rank tensor): J4(r) = J(r) — <A ® 3(r)

= —

e spin current (vector): Ju(r) = J(r) — <A x 3(r)
e kinetic energy density: 74(r) = (ﬁ — zhiA) (V' + zhcA) p(r, ') |pmp
=7(r) = 255 A j(x) + 55 |APp(r) = 7(x) = 255 A Ja(r) — 55 AP p(x)

e spin kinetic energy density: T (r) = ( - thA) (6’ + z%/f) S, v |pep
=T(r) = 22 AT - J(r) + 75 |AP3(r) = T(r) — 22 AT - Ta(r) — 7oz |A|23(r)

As a result the proton single particle hamiltonian has the form:

ha(r) = —V4- (B(r) s é(r)) Va+ Ua(r) + % (W( ) (Vax &) +Va-(Fx W(r)))

FOA0) 4 (Va- T4+ O2() - 9) (8)
and
Uae) = V() — C7 9 [ st0)] = 07 (24 06) + 1At ) )
TAw) = Oalr) = %7 9 x [Aptw)] - 07 (2547 3(0) + 5 ity S ) (10)
TA(r) = Uar) = ¢ 4= Aplr) (11)
Va- (Bo)+7-C)) Va=[Va (Bo)+5-Cw))| - Va+
B(r) +5-é(r)) {A—i% (A-ﬁAJﬁA-A) = 2|A|2} (12)

Numerical Implementation

We build a spatial three-dimensional Cartesian grid in coordinate space with periodic boundary conditions, and
derivatives evaluated in momentum (Fourier-transformed) space. This method represents a flexible tool to describe
large amplitude nuclear motion as it contains the coupling to the continuum and between single-particle and collective
degrees of freedom. For the present problem, we have considered a box size of 402 with the lattice constant 1 fm.
The time step has been set to 0.076772 fm/c with a total time interval of about 4000 fm/c. The projectile is initially
placed at such a distance from the target nucleus that the collision occurs after 1600 — 1700 fm/c. Even though inially
the projectle is far enough from the target and hence the EM fields are weak, spurious excitations produced by a
sudden switch of the EM interaction at ¢ = 0 are possible. They were avoided by multiplying the the EM potentials
in Eq. (??) by the smoothing function f(t) = 1/[1 + exp((r(t) — Ro)/ao)], where Ry = 250 fm, ap = 50 fm. This
ensures that the EM field varies smoothly within the distance ag, but stay approximately equal to its physical value
within the distance 2Rjg.



Coulomb potential on the lattice

Here we describe the method used to describe the Coulomb self-interaction of the target nucleus.
Consider the charge distribution ep(r):

V20(r) = dme?p(r) (13)
P d3 ;€ p( ) 14
0= [ LS (14)
Note that above we have defined ® as e® (note €? in the formula). After the Fourier transform one gets:
Bk e2p(k) -
P(r) = / P 2 exp(ik - r) (15)

The above prescription generates however the spurious interaction between neighbouring cells.
Therefore we define the modified potential (N, N, N. denote number of equidistant lattice points in each direction,
L; = N;Ax, i = x,y, z, Ax is lattice constant):

f(r)=1/rforr < /L2 + L2+ L?

f(r) =0 otherwise (16)
Clearly the Fourier transform is:
1- cos(k\/LiTz—i—I@)
flk)=4n 2 (17)
and moreover
O(r) = / (;i’;g ﬁg“ exp(ik - t) = m 3" Ep(k)f (k) exp(ik 1) (18)
keL,L,L.

where in the last term p(E) is the Fourier transformed density on the lattice 27L,L,L.. In practice it means that one
has to perform forward and backward Fourier transforms on the lattice three times bigger in each direction.

This may however be avoided if one realizes that the Fourier transform of the density in the larger lattice can be
expressed through the Fourier transforms in the smaller lattices:

pan(®) = X plovsz)esp (=i (k7 oty ) Jesal-i ) (19)

relLs

and we need to perform 27 FFTs on the smaller lattice L for k,1,m = 0, 1,2 of the following quantities:
p(z,y, z) exp (—z (k2—7rx +1 27Ty + m—z))
Subsequently we obtain the potential through the relation:

O(r) =

2
1 —» - 2r 2w 2w -
— 3 V(K4 (k2212 2 k-
T AINLNN. keLBe Ph ( +< 3L, 3L, m3Lz)>eXp(l r)

) 2m 2m 2m
X exp (z (k?)L x—l—lf 3LZZ>> (20)

Dipole component of the electromagnetic field produced by the projectile

Coordinates (see fig. [1):
R=(b0,0t), r=(x,y,z2). (21)
Interaction potential:

Vg (r,t) = ®(r, t)pe(r)d>r, (22)



b R p(r,t)d?r

FIG. 4. Coordinate system used to describe the reaction

where
vZe
V@0 P 22z v

O(r,t) =

(23)

and v = (1 —v2/c?)"1/2. p.(r) = e¥*(r)¥(r) is the charge density of the nucleus at location r and ¥(r) are proton

wavefunctions . The vector potential is given by
A1) = Zo(r,t).
c

In order to extract the dipole component we used the interaction Hamiltonian:

2 2

yZe _ vZe
V=212 120z —ot)2 /02 + 42022

where one subtracts the second term which is responsible for the c.m. scattering (i.e. monopole field).
Consequently the dipole term reads:

[on vZe? Fb, (if m=+1)
H m 7t = o Ym 19 | 9 2,003/2 ’ ’
Eim(T,1) 3 Yim (F) (b2 +72v2t2)3/2 { V2ut (if m=0)

Hint (I‘, t) =

where r is the coordinate of one of the protons in the target. A sum over m has to be performed, i.e.

Hei(r,t) = Z ZHElm(ri;t): Z Zréylm(fi)flm(t);

i=protons m i=protons m

where f1,,,(¢) is the part of the interaction which does not involve the intrinsic structure of the nucleus:

fim(t) = |27 vZe? Fb, (if m==£1)
" 3 (02 4 42022)*2 | V20t (if m=0)

Electromagnetic radiation from a nucleus described within TDSLDA

Let us consider the proton density and current (we use Gauss units):

* d
prt)= [ Sp(r,w)exp(—iwt)
oo 2T
e t) = = [ dwfie,w) exp(—iwt)
J(r,t) = ) wi(r,w)exp(—iw

where

Bk -
/ 3pkwexp(kz r)

d?’kﬂ—»
/ 3jkwexp(k r)

(24)

(25)

(26)

(27)

(28)



Maxwell equations:

V- E(r,t) = 4mep(r, t)
V- B(r,t)=0
vXEmw:_%%Emw
V x B(r,t) = ! (gﬁ(r,t) + 47Tej(r,t)>
c \ Ot
and spatial Fourier transforms:
ik - E(k,t) = 4dmep(k, t)
ik - B(k,t) =
o oo 10 =,
ik x E(k,t) = —E&B(kz,t}
%xé@ﬂ_l(gﬂhw+hﬁ@ﬁ>
c \ Ot
Hence clearly:
E=E|+E°
B=EB,
where
V x Ej(r,t) =0
V-E (r,t)=0
V-Bi(r,t)=0
and
E:_vanw_égﬁm@
B=VxA(r,t)
Clearly
Ean:_vanw_%%Zan
Egnw:_igﬁgnw

B=VxA (1)

10

(48)

(49)
(50)

Therefore one has a freedom to choose /_1'||(r, t) (gauge transformation) whereas A, (r,t) is the gauge invariant part

of the vector potential.
We choose the Coulomb gauge:

Hence

and only perpendicular components of electric and magnetic fields are responsible for emission of radiation.

important equation in this case is the fourth Maxwell equation:

Vxéﬂnﬂzl(

c

0

ot

ot

c

— -2 1 (9 - -
Eutrnt) +amefu0.0) + 1 B rnt) + amedi .0



Since the lhs represents the vector of type L therefore:

9 - ;
EEH(I"t) + 47T€j||(r,t) =0

and

V x Bi(rt) = %

0 = -
(E 1 (r ,t)+47T€jJ_(r,t))
Substituting the potential A

V x V x L(r,t) = —VQ/YL(I‘,t) = l2 (—iAL(I‘ t) —|—47TC€'7L(I',t)>

c ot?
V2AL (0 t) - =05 (00) = —2amedi (v,0)
’ c2 Ot2 ’
where
Fut) = He0) = 5 t) = ) + =D B et) = 1) — = e

Therefore in the Coulomb gauge

A )= Ayt = L /dgr,em oo L f o, L, w) exp(iklr —x')
&

=A t
L(r, c v — 1’| [r — /|

and in the far zone r >> r':

- exp(ikr) 1 - -

o k
exp(ikr) 1 /dnge‘]l(I' w)exp(—ik -r') = ——~~¢j, (k,ck)
c rooc

Alr,w) =

r

where k = kX and w = ck and consequently:
K

Ar,t) = i/ dwA(r,w) exp(—iwt) = %/ dkj . (k, ck)w

2 — 0o — o0 r

Consequently since B=V x A we get:

. . 1 Zo( iklr — ¢!
B(r,w) =V x A(r,w) =V x —/d%’eh(r’w)a{p(l r=rD _

c [r — 1’|

¢ v — /|2 ¢ |r — /|3

B 1/d3r,ik(r—r’) x ej 1 (v, w) exp(ik|r —r']) l/d%,(r—r') x ej 1 (r',w) exp(ik|r — r'])

¢ |r — r/|? ¢ [r —r/|3

where in the last line we have used the fact that rotation of the vector of type || is zero. For the electric field:

- TR ; 7o iklr — ¢!
E|(r,w)= %A(r,o.)) = % /d37°/ ej 1 (x', w) exp(ik|r —x'))

¢ |r — r/|
B B 3, ep(r’,w)
Hence in the far zone r >> 1’ one gets:
. ; ik Lol . ' kr) - o
B(r,w) = ie explikr) /d3r’k x j1 (v, w) exp(—ik -r') = EMk x j(k,w)
c r c r

5 5 5 exp(ikr) iw ie exp(ikr -
E(r,w):EL(r,w)—l—EH(r,w):f ejL(k ck) = - . kji(k,ck)

_ ieexp(ikr) - =7 _ ieexp(ikr) ¢ T 25 rE r

= ZERED k(G (F, k) — (R, ok)) = =2 ((k 2R, k) = (K - (%, ck)) >

_ e (557 )« F)

C T r

B l/dgr,ik(r — ') x ej(r',w) exp(ik|r —r'|) B l/d?’r’ (r—r') x ej(r',w) exp(ik|r — 1))
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(63)

(64)

(65)

(66)
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and consequently:

_ 1 [ _ o de [T oo exp(ik(r — ct))
B(r,t) = 5 /_OO dwB(r,w) exp(—iwt) = o ) dkk x j(k,ck) . (71)
de [P dwe - exp(—iw(t—r/c))
— . Eka( ,w) ” (72)
Brt) = L / dwB (r,w) exp(—iwt) = —— = x / dk (j'(E, ck) x 12) exp(ik(r = ct)) (73)
27 J_ 2 r o r
_der © dw (== -\ exp(—iw(t —r/c))
_?;x/m%(](k,w)xk) . (74)

Note that in the above expressions k and w are related: w = c|k|.
Poynting vector reads S = = F x B and thus:

—

S(t)zm/_oodw/_oodw’E(r,w) B(r,w) exp(—i(w + w')t)
—%/ dw/ o' E(r,w) x B*(r,w') exp(—i(w — w')t)
s [ [ X G (7 x T B (il — e+ il ) (79

2

W?ﬂ /_OO %(k J(k,w)) exp(—iwt + ikr) (76)
| [ B ) exp(ion)| )
dmr | )_o 27 » &) SXPLTIE
Energy per unit time emitted to the angle d€2 reads:
~ ro, e2 dw - = - . . 2
dP(t) = S(t) - —r*dQ) = — | [ —(k x j(k,w)) exp(—iwt + ikr)| d (78)
r 4dme 2m
Hence

dP 62 * dw - -, = . 2 C 5|3 2

0= o || SR FE ) e(istt = r/0)| = r?[Ble.t) (79)

Note that the radiation at time ¢ is given by the current at time t — /¢, thus a simple time shift, which we can
discard. Therefore the total amount of radiated energy at the angle df) reads:

dP 6200—» 2. ¢ 5 [T 5 * dw = )
/ Zebdt= /m B(r,t)} dt_Er/ B(r,t)-/ o Br.w) exp(—iwt)dt

_ e [T s ) B = St [ ). B
=" /_OO 2ﬂ_B(r, w) - B(r,w) = s /_OO 27TB (r,w)- B(r,w) (80)
which gives the spectral decomposition of emitted radiation:
> dpP c o [~ = 2 c o [~ = 2
/_Oom(t)dtz Frcly /_OO dw’B(r,w)’ =" /0 dw‘B(r,w)‘ (81)
Hence the energy emitted at the angle  at frequency w reads:
dE B e? 2

I 2
kxj(k,w)‘

(82)

— e? - =
d0ds @) = 12 = In%c ‘/d% (V X J(raw)) exp(—ik - r)

In order to calculate the quantities given by the expressions: ([[9) ([82) we use the multipole expansion. Namely, let
us consider eq. (82l):
dE dE e?
2 2 ndo = | S
d / 20dn / ir2c

e? o - - -
= m/‘/d%/_@dt (V xj(r,t)) exp(—ik - r + iwt)

dQ (83)

"0 (84)
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Let us denote:

V x j(r,t) = b(r,t) (85)
V x j(r,w) = b(r,w) (86)
We expand exp(—ik - r):
exp(—ik - 1) = 4w > (i) i (kr) Vi (k) Yy, (7) (87)
L,m
and consequently we get
2
2 o) R
j_f - = / / & L L 47TZ Vo (k) Yo (B) Y, (7) | expiot)| do (88)
2
62 ~ .
= / /_ dt47rz ) bim (K, ) Yim (k) exp(iwt)| dS (89)
2
62 ~
=15 / 4WZ ) bim (B, w)Yign (K)| dS2 (90)
where
bim (. 1) :/ b(r,t)ji(kr)Y,:, () (91)
bim (b, w) / bim (k. t) exp(iwt)dt (92)

Note that by, is a function of k (not k) and

dE 62 2 LU 7 7, 7,
== 47T20(47T) 3 (i) (blm(kz,w) ~bl/m/(k,w)) Yim ()Yir, (k) | a0 (93)
L,m,l’,m’
47T2 Z b1 (K, w) Z b1 (K, ) (94)

The above equation is used to calculate the spectrum of emitted radiation. In practice one needs only few multipoles.
The contribution coming from [ = 4 term is already negligibly small.
In order to determine the rate of emitted radiation let us consider eq. (Z9):

P(t+r/c) = / %(t +1/c)dQ = f—:c / ‘/_O:O ‘;—i(/% x j(k,w)) exp(—iwt) QdQ (95)
- 46_7:0 /O:O d—:: (/ d*r(V x f(r,w))exp(—il%’-r)) exp(—iwt) i o (96)
- f_:c /_ O:O L ( / d3r4w%ﬂ:(—i)@(r,w)jl(kr)mm(/;)yl:n(f)) exp(—iwt)| d0 07)
2
= 46_7:0 L O:O d_: (4ﬁ§(_i)lam(1€,wmm(m exp(—iwt)| dQ (98)

2 > dw > dw l g (7 e / / 7 * 7
i) 5] (4r) /dQl ZI: )i (blm(k,w)-bl/m,(k,w))Ylm(k)Yl,m,(k) x

X exp(—i(w — w')t) (99)
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Note that in the last two lines of the above expression k = k' because the vectors E, K differ only by length (w =
ck,w’ = ck’) but have the same direction specified by the angle Q. Therefore:

P(t+1/c) = / 472 Y (B (k) - B () ) | exp(—io — )t) (100)

,m

2 e8] 2
_“ Z ‘/ bim (k, w) exp(—iwt)dw
e Im 'V T

The last equation is used in practice to calculate the rate of emitted radiation.

The above prescriptions work efficiently if one considers the radiation emitted due to internal nuclear excitation.
However in order to determine the contribution coming from the CM motion of the nucleus the simpler formula can
be derived. In this case the proton current reads:

47TC

(101)

Jp(r,1) = V()3(r = ro(t)) (102)

Then
A(r,w) = exprzkr % d*r' 5, (x', w) exp(—ik - ') (103)
= W—Ze /OO dt exp(iwt)V (t) exp(—ik - ro(t)) (104)

where

Jplk,w) = /Oo dt exp <iw (t - %ﬁ : ro(t)>> V(t) (105)
~ / " dtexpliot)V (t + %ﬁ . ro(t)> (106)

oo
~ / dt exp(iwt)V (t) = V(w), (107)
— 00
where w = ck. The approximation was made above that the velocity is small and the movement of the nucleus is
negligible. Therefore the possible perturbation of the radiation due to the change of nucleus position can be neglected.
Consequently:

Br,w) = ZeePUR) 1 Gy (108)
c r
and
B(r,t) = / ;l—“’é(r w) exp(—iwt) (109)
T
iZel dw r Lo
= 0_2;/ 5o eXP ( (t - E)) wni x V(w) (110)
Zeld [ dw ) ™\ ., -~
:—?;almgexp(—zw (t—z))nxV(w) (111)
Zel d r
=~y gV (=7) (112)
Therefore
dP c = 2 1 av (t — )
el 2 t ’ Ze)? ¢’ | sin®@ 1
gl = (B = (Ze) dt o (113)
and
2
21dV (t—=
Py 2ZeP [V (- 2)

(114)
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Spectral decomposition:

dE (Ze)? - =,
— = k 11
and integrating over angles
- 2
dE 2 (Ze)? 4oy 2 (Ze)? 4o o 2 (Ze)? |V
a2 L2V —— \V = — 116
dw 37 ¢ Vi) 3 B Vi) 3m 3 | dt @) (116)
where %(w) is the Fourier transform of acceleration:
av dv ,
E(w) = /dt%(t) exp(iwt) (117)

The above derivation assumes that the moving nucleus can be treated as a point-like particle. This is a reasonable
approximation although it is not difficult to include suitable corrections. Let us consider the proton current in the
form:

Jp(r,t) = V(t)p(r — ro(t)) (118)

Using the same assumption as before, ie. that the motion is nonrelativistic and movement in space is negligible one
gets:

Jp(F,w) = V(w)p(k) (119)
and (see (82)):

??‘l

e)? - o - e)? -
/ dE_ o — (Z¢) | x 7 (w)p(k)d22 = (Ze) l/mxww )p(k)[2d) (120)

47‘1’263/‘ E) 2

where 77 = 7. In the case of spherical density distribution it simplifies to:

s (121)

dv
dt

dv
dt

dE (Ze)? .
/ 000 ™ = e / "
The above expressions can be used to determine the spectrum of emitted radiation. In the Figures Bl and [ the
contributions to the energy spectrum coming from dipole and quadrupole terms are plotted for 3 values of impact
parameter. The difference between the figures originates from two different smoothing widths that have been applied.
Namely, the original curves have been convoluted with gaussians of widths 1 MeV (Fig. Bl and 0.5 MeV (Fig. [ ).
For the radiation caused by the CM acceleration after collision the decomposition into multipoles is not useful and

one can apply instead egs. (?7?). The emission occurs within much shorter time scale governed by the collision time
Teoll = %. The results are plotted in the Figs. [8] 0]

2 (Ze)?

2
k)[2dQ =
Ip(k) R

|o(k)|? (122)

(w)

(w)

Dipole dynamics and neutron emission

The framework of TDSLDA allows to calculate various one body observables. In this case the most important is
the nuclear dipole moment. Only two components of the dipole moment, lying in the reaction plane, can oscillate as
a result of collision. In the Figs. [[3] [[4] [5] these two components of the dipole moment have been plotted.

During the time evolution the nucleus can emit particles. In order to investigate this effect we have calculated the
number of neutrons/protons within shells of various radii. As one can see from the Figs. [I6 [[7] I8 9 the number
of protons in the shells outside the nucleus is negligible. Moreover this proton number is approximately constant
which indicate that we rather probe the tale of the proton distribution than the emission process. On the contrary
the situation is different for neutrons. The number of neutrons in the smaller shell is much larger, although it is also
approximately constant. However in the larger shell the number of neutrons is constantly increasing in time with a
fairly constant average rate. It indicates that the neutron emission occurs as a result of Coulomb excitation process.
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FIG. 5.  (color online) The energy spectrum of emitted electromagnetic radiation due to internal excitation of the target
nucleus, caused by the collision at the impact parameters b = 12.2 fm (upper subfigure), b = 16.2 and b = 20.2 (lowest
subfigure) . The contributions from two orientations of the target nucleus are shown: perpendicular (squares) and parallel
(circles) with respect to the incoming projectile. Dotted dashed line represents the dipole component of the radiation. Dashed
line represents the quadrupole component of the radiation. In this case the smoothing width of the original curves was set to
1 MeV.

dE
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FIG. 6. (color online) The same as in the Fig. [B] but in this case the smoothing width of the original curves was set to 0.5
MeV.
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Deposited Energy (MeV)
[
o

100 L L L
10 15
impact parameter (fm)

FIG. 7. (color online) Energy deposited in the target nucleus 23877 for three values of the impact parameter: 12.2,16.2,20.2 fm
and for two nuclear orientations: nuclear symmetry axis being parallel (squares) and perpendicular (circles) to the trajectory
of incoming projectile. The same quantity is shown for the Goldhaber-Teller model, assuming that the frequencies of the dipole
oscillations are fiw = 12 MeV and 7w = 16 MeV parallel (blue-dashed line) and perpendicular (red-solid line) to the nuclear
symmetry axis, respectively.
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FIG. 8. (color online) The gamma emission rate (left panel) due to bremsstrahlung for the collision at the impact parameter
b = 12.2fm. The right panel shows the energy spectrum emitted. Solid and dashed lines correspond to the perpendicular and
parallel orientation of the target nucleus with respect to incoming projectile.
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FIG. 10.
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(color online) The same as in the Fig. [§ but for the impact parameter b = 16.2fm.
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(color online) The same as in the Fig. B but for the impact parameter b = 20.2fm.
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0 10 2‘0 3‘0 40 50
hw [MeV]

FIG. 11. (color online) The contributions to the cross section with respect to gamma emission during 2500 fm/c after collision.
The dashed line represents the Bremsstrahlung contribution. The solid line shows the contribution from intrinsic excitation
modes.

10

7 L L L L L L
1500 2000 2500 3000 3500 4000
time [fm/c]

FIG. 12. (color online) The distance squared between the CM of protons and the total nuclear CM: |[ARca|? as a function
of time. The impact parameter is b = 12.2 fm, and the nuclear symmetry axis of the target is perpendicular to the projectile’s
trajectory. The slope does not depend on the orientation and the impact parameter. The numerical fit to the maxima (squared
amplitudes of dipole oscillations) with the function exp(—t/7) yields 7 & 500 fm/c.
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FIG. 13. (color online) Two components of the dipole moment: D, and D, as a function of time. The left and right subfigures
correspond to the collision with projectile moving along the y-axis and z-axis , respectively. Impact parameter: b = 12.2fm.
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FIG. 14. (color online) The same as in the Fig. [[3 but for the impact parameter b = 16.2fm.
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FIG. 15. (color online) The same as in the Fig. [[3 but for the impact parameter b = 20.2fm.
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FIG. 16. (color online) The number of neutrons present within the shell with inner radius 10fm and outer radius 15fm (red
line). The number of neutrons present within the shell with inner radius 10fm and outer radius 20fm (blue line). Thin line

corresponds to the actual number of neutrons, whereas the thick line denotes the average value.

The plot corresponds to

the collision with the target nucleus symmetry axis perpendicular to the trajectory of the incoming projectile. The impact

parameter b = 12.2 fm.
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FIG. 17.  (color online) The same as in the Fig. [I6] but for the nuclear orientation parallel with respect to the incoming
projectile.
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FIG. 18. (color online) The same as in the Fig. [[6, but for protons.
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FIG. 19. (color online) The same as in the Fig. [[7 but for protons.



